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i) General Awareness

Where is the Master Control Facility of
ISRO ?

(A) Srihari Kota

(B) Hassan

(C) Bangalore

(D) Mahendragiri

World’s largest Nuclear Power Plant
is located in

(A) U.S.

(B) Russia
(C) Canada
(D) Japan

In which year was the Indo-Soviet
Treaty of Peace, Friendship and
Cooperation was signed between
India and the Soviet Union ?

(A) 1965 (B) 1971

(C) 1962 (D) 1974

What is the name of the rover that
was part of the Chandrayaan |l
Mission ?

(A) Pragyan

(B) Prateek

(C) Chandru

(D) Vikram

Kambala is the traditional sport of
which Indian state ?

(A) Andhra Pradesh

(B) Telangana

(C) Kerala

(D) Karnataka

6.

10.

Neora Valley National Park is in the
state of

(A) Kerala

(B) West Bengal

(C) Himachal Pradesh
(D) None of the above

First External Affairs Minister of India
(A) V. K. Krishna Menon

(B) Vijayalakshmi Pandit

(C) Gulzarilal Nanda

(D) Jawaharlal Nehru

First Foreign Secretary of India
(A) K.P.S. Menon

(B) R. K. Nehru

(C) M. J. Desai

(D) Subimal Dutt

Who is referred as father of Modern
Economics ?

(A) Milton Friedman
(B) Amartya Sen

(C) Adam Smith

(D) None of the above

The Headquarters of UNESCO is
located in

(A) Paris
(B) Geneva
(C) Vienna
(D) New York
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12.

13.

14.

185.

‘Rahul Aware’ is associated to which
sports ?

(A) Chess
(B) Wrestling
(C) Tennis

(D) Boxing

Beidou is the Navigation Satellite
System of which country ?

(A) France
(B) Italy

(C) China
(D) Russia

Which place is the wettest place in
India ?

(A) Cherrapuniji

(B) Agumbe

(C) Kandala

(D) Mawsynram

Which is the highest mountain peak in
India ? ‘

(A) Kangchenjunga

(B) Nandadevi

(C) Kamet

(D) Kabru

The Indus Waters Treaty is between
which of these nations ?

(A) India and Nepal

(B) India and Bangladesh
(C) India and China

(D) India and Pakistan

16.

17.

18.

19.

20.

When did the Nuclear Non-proliferation
Treaty (NPT) come into force ?

(A) 1965
(B) 1970
(C) 1968
(D) 1969

Justice Verma Committee is related to
(A) Interstate river water disputes

(B) Quotas for reservation

(C) Palice reform

(D) Sexual assault against women

‘Junagarh Fort’ is located in which city
of India ?

(A) Bikaner
(B) Ajmer
(C) Udaipur

(D) None of the above

The “Cabinet Committee on Economic
Affairs” is headed by whom among
the following ?

(A) Prime Minister

(B) Finance Minister
(C) President

(D) Commerce Minister

Kalahari Desert is situated in which
continent ?

(A) Asia

(B) Australia

(C) Africa

(D) South America
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11.

12.

13.

14,

15.

g 1T forg @t B wafta @ 7
(A) st

(B) Fwd

(C) 2

(D) ket

g ford <1 i e 3wre yoreti @ 7
(A) wE
(B) et
(C) =
(D) w&

W 1 G 3718 T HIT-41 8 7
(A) Srdsft

(B) sy

(C) =reemn

(D) =ifgmy

TR <l Tl el Y = - R 7
(A) s

(B) et

(C) =ma

(D) =g

Ty sie Toghar fr emi s @ 7
(A) 9@ 3R AU

(B) W@ 3T siFerresT

(C) wra 3=

(D) wma 3R wiferea=

16.

17.

18.

19.

20.
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IShTE SR HfY e TS 7
(A) 1965
(B) 1970
(C) 1968
(D) 1969

sy aut gfufy
(A) =y 7t 5 faame
(B) 3R &g HI

(C) giera gam
(D) ufgemat = fawg 9 3afieq

PTG fohe’ v o form e o fdra & 7
(A) forert
(B) 3R

(C) &gt
(D) 3%aH @ FI3 7

“amfdfer el ot Hfeme wfufy” i
Fregerar Frafafaa d 9 R s e ?
(A) gem wsft

(B) fom s

(C) Tsgafa

(D) arfursy w=ht

Y gafdra 2|

FHIATRR! i g meEiv 4 fem ® ?
(A) ufmn

(B) ariegferan

(C) dram

(D) =ftqor smfisr
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ii) Mental Ability and Reasoning Ability

21. Paw is to Cat as Hoof is to 26. Select the word which is least like the
(A) Horse other words in the group.
(A) Dispur
(B) Lamb i
(B) Shimla
(C) Elephant (C) Leh
(D) Lion (D) Aizwal
22. Complete the analogy. Scalp : Hair 27. Select the number which is different
(A) Home : Cattle from the rest three.
: . (A) 383 (B) 551
(B) Nail : Nailpolish
(C) 263 (D) 111
(C) Grass: Earth
(D) Fur:Cap 28. Select the odd pair.
(A) KP (B) MN
23. Which of the following is same as (C) HR (D) GT

Rabbit, Rat, Mole ? ; D
29. Find the missing number.

(A) Mongoose
5,2,7,9, 16,25, 41,2

(B) Frog (A) 66 (B) 65 -
(C) Earthworm (C) 67 (D) 68
(D) Ant _
30. The odd number in the sequence.
24 8228927 7 361 201 12! 8: 6: 55: 4.5

A 8 ®) 28 (A) 55 (B) 4.5

(C) 6 (D) 12
(C) 64 (D) 65

31. Complete the series.

. . ey
25. ACEG : ZXVT ::HJLN : 7 P3C, R5F, T8I, V12L, 2

(A) TRPN (A) Y170
(B) SQOM (B) X17M
(C) OQsu (€) X170

(D) RPNL (B) X17N
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i) wTTEres eren qen difdhes drwrar

Y gaftd 2|

(A) HreT
(B) #HI
(C) weft
(D) I

HrEgal qui &1 | w6 = a
(A) = :93[EA

(B) ARG : AT

(C) = : gt

(D) W : 2t

frfafiaa 4 | wF-ar @i, =@,
LA HAUAE 7

(A) Fae

(B) Hew

(C) g

(D) =fid

B:28::27:7
(A) 8
(C) 64

(B) 28
(D) 65

ACEG : ZXVT : : HJLN : ?
(A) TRPN
(B) SQOM
(C) OQSuU
(D) RPNL

26.

27

28.

29.

30.

31.

I8 Y158 YA N TE o 3 vrea| @ ged
FYq a2 |

(A) femge

(B) Tmem

(C) &

(D) 3TESETA

I8 g1 AT S 7 A1 3 fim B
(A) 383 (B) 551
(C) 263 (D) 111
i gm gfw)

(A) KP (B) MN
(C) HR (D) GT
o HET 1 |

5,2,7,9, 16, 25, 41, ?

(A) 66 (B) 65
(C) 67 (D) 68
sigen ¥ wdeon firm g gfu)
36, 20, 12, 8, 6, 5.5, 4.5

(A) 5.5 (B) 4.5
() 6 (D) 12
et ot hifer|

P3C, R5F, T8I, V12L, ?

(A) Y170

(B) X17M

(C) X170

(D) X17N
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32.

33.

34.

35.

Find out the missing letters.
ec_ ccbe._accbee ac_b
(A) acac

(B) abac

(C) abab

(D) aabc

If GYMNASIUM is written as
NTJRBMNXH using the same code
COMPLAINT can be written as

(A) DNNOMZNMU
(B) UMJZMONND
(C) EJNNDOPQT
(D) FTYZAAJJK

If REASON is coded as 5 and
BELIEVED as 7 then what is the code
number for GOVERNMENT ?

(A) 9 (B) 10

(C) 11 (D) 12

If P + Q means P is the husband of Q,
P + Q means P is the sister of Q and
P x Q means P is the son of Q then
which of the following shows A is the

- daughter of B ?

(A) CxB=+A
(B) B+CxA
(C) DxB+C=A
(D) A-DxB

0 0 0

36.

If RED is coded as 6720 then GREEN
would be coded as

(A) 167129
(B) 9207716
(C) 1677209
(D) 1672091

Q. No. 37 - 40 : Eight friends P, M\, R, T, Q,
U, V and W are sitting in two opposite rows,
facing each other. Each row has 4 persons.
P is between U and V and is facing North.
W is opposite to Q who is to the immediate left
of M. R is between T and M. W is to immediate
right of V.

37.

38.

39.

Who is to the immediate right of R ?
(A) M

(B) U

C) P

(D) None of these

Which of the following pairs has the
person sitting opposite to each other ?

(A) MV (B) RV
(C) TV (D) UR

Which of the following pair doesn’t
belong the group ?

(A) TP (B) RV
(C) QP (D) Qv
Who is sitting opposite to R ?
(A) U (B) Q
C) Vv (D) P
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32. W & I H 36. 3Afe RED %1 %2 6720 & a1 GREEN i
cc_ccbc _accbec_c_ b %m
| (A) 167129
() bacas (B) 9207716
5) apec (C) 1677209
(C) abab (D) 1672091
(D) aabc

Q. No. 37 -40: 3 @ P, M, R, T, Q,
33. 4% GYMNASIUM % NTJRBMNXH ;R""'ﬁ;{;";; %ﬁj‘““fm’ﬂql%ﬁd' ﬁg*;‘;?
. i 1 4 |
TR ot 20 s COMPLAINT PUsRVvFfasmfisimgefrmaiw, Q
A fowar s ww R % Aua 2 M B ga i 2 R, T M

(A) DNNOMZNMU BIW, V& gia I )

(B) UMJZMONND

37. RETAIMWHAR ?
(C) EJNNDOPQT

(A) M
(D) FTYZAAJJK (B) U
34. ¥id REASON &1 & 5 37X BELIEVED I Eg ;ﬁ P
77, Al GOVERNMENT &l S 18 2
(A) 9 (B) 10 38. ﬁnﬁﬁa@nﬁﬁaﬁmﬁwﬁr@
€) 11 (D) 12 TR fofia 43 8 7
(A) MV (B) RV
35. afE P+ Q@ 3ref B P, Qa1 ufy 2, () TV (D) UR

b liiind [N S —
F a2 P, QA R, At Fraferfia # @ wsiferd T & 7

FH-wanid e R A, BHRI T2 2

(A) TP (B) RV
(A) CxB+A (C) QP (D) Qv
) B+CXA_ 40. R FamflasA a3 ¥ 2
(©) DxB+(BJ-.-A (A) U B) Q
(D) A=:Dx

(C) Vv D) P
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41.

42.

43.

45.

U000 00 O

iii) Numerical Aptitude and Data Interpretation

A dealer by selling 10 mangoes gets
the cost of 15 mangoes. The profit
percentage is

(A) 50 (B) 30
(C) 20 (D) 15
N

If J;& =% then x =
- b - &

(A) 2= (B) 210
1 1

(C) 216 (D) 214

Which of the following is the largest in
value ?

(A) e./1é
® 7/5
(C) 8%'
©) ¢/

Value of

g 1 -
J6+v7 -3 J6-v7-13
A) V6 ]

NG

© o

(B)
(C) 6

How many numbers between 450 and
950 are divisible by both 3 and 7 ?

(A) 20 (B) 24
(C) 30 (D) 35

46.

47.

48.

49.

50.

For how many integral values of x, is

the inequation S 4 satisfied ?
X+7

(A) 5 (B) 4

(C) 2 (D) 3

If the number of diagonals of a regular

‘n’ sided polygon is 77, then the value
ofnis

(A) 10
(C) 15

(B) 14
(D) 18

When 20 people are to be seated in
a row, the probability that 2 particular
persons always sit together is

&) - B) -

20 10
1 1
© 3 © 5

6 years ago, Ram’s age was 4 times
Shyam’s age. 6 years hence Ram'’s
age will be thrice Shyam’s ‘age. After
how many years from now will their
combined age be 150 years ?

(A) 9 (B) 21

(C) 36 (D) 18

The driver of a car driving at the speed
of 48 km per hour spots a bus 80 meters
ahead of him. After 30 seconds, the bus
is 120 meters behind the car. The speed
of the bus is

(A) 48 kmph

(B) 96 kmph

(C) 24 kmph

(D) 36 kmph
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iii) T v vd Brel FHdea
e, Tashar =t 10 ot &1 forsht & 15 31t | 46, x ) et wamere ol & fog,
1 Fhimd e gielt 21 e e @ X=5 | 4 gt g B & 2
(A) 50 (B) 30 b
(A) 5 (B) 4
(C) 20 (D) 15 ©) 2 D) 3
sl - 47. e Frafi ' STE S % Rl
afe JxVX =%?ﬁx= HRERT 778, A nFH AT
’ : (A) 10 B) 14
(A) 272 ®) 21 € 15 iR
= v 48. & 20 AW I U Ufad H A1 2, 4 2
() 2' (D) 2' oo st 1 T e A ) iR
Frerferfae 2 e e e 2 7 ® 35 ® 15
w2 © 4 © 5
®) 773
v, 49. 634 qd, UH I 3T1g YW il 311 I 4
(C) 8/4 o off | 6 9 WG, TW h 3G @H H
(D) g% mﬁﬁqgﬂnﬁﬁlﬁmﬁaﬁmm
1 1 aftfera 3y 150 9 &t 2
J6+\7 13 J6-J7-413 A A ) &
() 36 (D) 18
HIOE B .
(A) V6 (B) :1(— 50. 48 fot ufey wer o i & v IR TN @
16 I U o8 IGH 80 HiTT A T
€1 (©) ) TS | 30 Uhe o185 HR A 120 He fis
450 37K 950 ¥ = faHt H@aTd 3 3 off| = =61 e @ _
73R A R & 2 (A) 48 Tt wfer w1
(A) 20 (B) 24 (B) 96 feret gfa =er
(C) 30 (D) 35 (C) 24 ot ufd =1
(D) 36 forft wfa =
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52.

53.

54.

95.

-192-

Two taps can fill a cistern separately in
24 mins and 40 mins respectively and
a drain pipe (tap) can drain off 50 litres
per minute. If all the 3 taps are opened,
the empty cistern fills in 60 minutes. The
capacity of the cistern is

(A) 600 litres

(B) 950 litres

(C) 1000 litres

(D) None of these

PQRS is a rhombus such that
PR =32 cm and QS = 24 cm, the
perimeter of the rhombus is

(A) 100 cm (B) 64 cm
(C) 25cm (D) 80cm

A steel pipe has an external diameter
of 1.6 cm and a thickness of 1 mm.
Each cubic cm of it weighs 8 gms. Find
the weight of pipe of length 70 cm.

(=25

(A) 264 gm
(C) 642 gm

(B) 246 gm
(D) 462 gm

If cosecO = % +cotd then sind =

& % ® %

(C) %0 13

(D) /20
The remainder when 3101 is divided

by 10 is
(A) 3 (B) 1
(C) O (D) 9

T O O

56.

57.

58.

59.

60.

A survey shows that 63% of people
watch a channel A where as 76% watch
channel B. If x% of the people watch
both the channels, then

(A) x=35 (B) x=63

(C) 39<x<63 (D) x=39

The sum of first 24 terms of the A.P.
ay, &, a3 . . . if it is known that
ay+ag+ayg+ay5+ayy +ay,=225,is
(A) 1000

(B) 900

(C) 850

(D) None of these

Find the least number of equal size tiles
required to pave the ceiling of a room
of 15 m, 17 cm long and 9 m, 2 cm
broad.

(A) 900
(C) 800

(B) 814
(D) 750

Mr. A can do a job in 8 days, Mr. B
can do it in 5 days. A and B together
undertook to do it for Rs. 8,000. With
the help of an assistant, they completed
the job in 3 days. Then the share of the
assistant should be

(A) Rs. 2,000 (B) Rs. 400

(C) Rs. 200 (D) None of these

Jack and Jill went up a hill at a speed
of 20 kmph and both of them came
tumbling down the same distance at a
speed of 30 kmph. The average speed
of the round trip is

(A) 25 kmph

(B) 24 kmph

(C) 25.5 kmph

(D) 24.5 kmph
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24 e 3R 40 fie ¥ 7 oahd & 3T
fep T8y (A1) 50 efiex g firme @
X gohal g A i 71 e T Wi fo
TS ot Wiedl 82 60 fire o« St 21 8
& afiar 8

" (A) 600 et

(B) 950 wftex
(C) 1000 &t
(D) T @ IS T

PQRS U @Haqy 8, fod PR = 328t
3R QS = 24 Tt T A= il afem

(A) 1008#t | (B) 643t
(C) 254 (D) 80 &t

e W <l UTEY 1 wTel urE 1.6 9t @
3 AerE 1 finft R) ydes va At &1 9R
8 U™ 2| 70 Tft TS & WISY I YR J1d

i (-2
(A) 264 U™
(C) 6427™

(B) 246 U™
(D) 4627

2 cosectd =+ cot0 At sing=
3 2
& %

® %

© %o o Y0

3101 10 Ry FR Fae Ay 2
A) 3 B) 1

(C) O (D) 9

56.

57.

58.

59.

60.
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T Gl 91T & foF =9 A # 63%
Safeh Sa B %1 76% <l 9@ 81 4fe x%
A I S 2§, dl

(A) x=235 (B) x =63

(C) 39<x<63 (D) x=39

T TG A0f1 &y, @y, ay . . . & IO
24qfﬁwzﬁﬂwaﬁm aﬁﬂ%m%%
ay+ag+ayg+ayg+ayy+ay =225
(A) 1000

(B) 900

(C) 850

(D) T A T

15, 17 9t &t 3R 9 i, 2 It =i
Ft B Gyl oA o for gean feras TaE
SRR B3l hl sretd gt ?
(A) 900 (B) 814
(C) 800 (D) 750

. A tF FE F 8 Tl # o ged B,
#ft. B3 s5feAi i gshd € | ASTRB S
T |19 %. 8,000 H A %l FALEY | Th
s H TERa A I g@ & o 3 fea |
T UMY | 1 &I 1 9T 2

(A) ®.2,000 (B) 3. 400

(C) %. 200 (D) 399 & IS &

Jeh 3R foret v yerdt w20 Tt wfe =
1 i B =qd & 31 30 ot ufe wrer hr oifa
Y i a1rd &1 31 sT9 i efea nfg @

(A) 25 fort gfd =
(B) 24 Terdfi ufd =
(C) 25.5 fort wfet v
(D) 24.5 T fd =e



MKG-XXVIII/TECHPGTS/1T/04

61.

62.

63.

64.
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iv) Hindi Language and Comprehension

=y s =y

for ot & YTsal i 70T FHET AT R ¢ 65. S :BS:: & :
(A) Tttt (A) @ (B) ¥
(B) sty ) 3= (D) S
b 66. ‘ITRETF 164 1 TGUT 165 71
(D) ¥ ¥ IS T 8, s
Sit st &, gom, viv, W, s S (B) mioTa
TR R, (S eitar
FEAE | (D) 379 & g T
(A) foremia see st 67. ‘STHEC FIE A FTIEE R ?
(B) W= S 1 (A) st
(C) HoY {urh 3T (B) gl
(D) ¥4 @ IS TE (C) st

, (D) ¥ & IS el
TS -9ET § HA-T1 qAE § 7
(A) &5 68. T it TS 1y © 7
(B) a‘g‘;ﬁ% (A) W (B) ST
© fan e e
(D) dcged 69. EUIGUT Y64 1 Tel A= foreesq Samsy|
s B Rt il e s (A) ®Y + I (B) T + AT
o e e A R o (C) T + A= (D) 4T + AT
(A) HTHT S[cehTet 70. 3 et o Tl oht weET o fomt 3=
(B) Ul Jdehle TE &1 Tenell; 98 1 FHEww B ¢
(C) T Yk (A) ¥ (B) 1<
(D) 1ol sfehTen (C) = (D) wTIER
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7.

72.

73.

74.

75.
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&= & swwi i gen g
amferfiad 21

(A) 10 (B) 7

(C) 8 (D) ¥ 9 &ig el

o yreaTYI 7, S foheft wreg A wig
% Y19 e 3% 1 Sl seei od § |
(A) Sya (B) dewm

(C) ¥ (D) WA

forent o a1 @ srvan =@ % e |
EEACCa el qfer e
SAETe |

(A) FU

(B) forem

(C) =M

(D) 37

@+@=m,ﬁaﬁfi‘:wm%?
(A) Tor

(B)

©) s

(D) ¥4 & FiE e

0 ¥ hEn veg /faer & @ gy w5
IR ?

(A) fearer

(B) Thwl

(C) aa

(D) Iewr@

76.

Vi@

78.

79.

80.
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T HH-91 6 TG R 7
(A) amsfiarg
(B) 3wftare
(C) msfame
(D) emftafe

Tl Big et o wet auii 1 e ?
(A) 36
(B) 44
(C) 48
(D) 53

T 0 o Ao F M A SR 7
(A) ST+
(B) S+
(€) T+
(D) S +3

&l W T & died o yrsal & Areawq 4 &
gfg =il 8139 Fed 8
(A) IrfeisR

(B) YISRTAFR

(C) vy

(D) SWATEHR

3IUHT ITTHR o fohad ST § ?
(A) 3

(B) 5

(C) 4

(D) T & F1E T
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v) English Language and Comprehension
3T T SR

Fill in the blanks with correct option given
below the passage.

If misery be the effect of virtue, it ought to be
reverenced; if of (81) , to be
pitied; and of vice, not to be (82)
because it is, perhaps, itself a punishment
adequate to the crime by which it was
(83) ; and the humanity of that
man can (84) no panegyric
who is capable of reproaching a criminal in the
hands of the executioner.

81. (A) fortune
(B)
(©)

(D)

ill-fortune
luck
blessings

82. (A)
(B)
(©)

(D)

insulted
praised
humbled
admired

83. calculated
thought

produced

(A)
(B)
(©)
(D)

denied

84. deserve
think
decide

argue

85. Which of the following is an example for
Oxymoron ?
(A) Man proposes, God disposes
(B) He has fallen asleep
(C) Laughter holding both her sides

(D) So innocent arch, so cunningly
simple

86. ldentify the figure of speech in the

following sentence.

“Art lies in concealing art”

(A) Apostrophe (B) Euphemism
(C) Antithesis (D) Epigram

Replace the underlined words with suitable
expressions from the given option.

87. |suspectthat he has a personal interest
in the matter.
(A) getinto hot water
(B) an axe to grind
(C) too many irons in the fire
(D) none of the above
88. He is not a great lawyer but he has a

talent for speaking.

(A) the gift of the gab
(B) the gift of the tongue
(C) the gift of the mind
(D) none of the above

Select the sentence which has an error.

89. (A) We discussed about the matter

yesterday
(B) | have ordered three cups of coffee
(C) She requested my help
(D) 1 want you to meet him



90. (A) Solomon was the wisest of all other

man

He has a lighter touch than any
other musician

The flowers smell sweet
He is senior to me

(B)

(C)
(D)

Select the correct option after changing the
voice of the given sentences.

91. “The mother manages the house”.

(A) The house managed by the
mother
The house was managed by the
mother
The house is managed by the
mother
The house has managed by the
mother

(B)
©)

(D)

92. “Let the sick child be carried home”.
(A) Carry the sick child home

(B) We have to carry the sick child
(C) Child must be carried

(D) Child has to be carried home

93. Select the sentence which is in simple

present tense.

(A) The boys are plays

(B) She had done the work
(C) Birds fly

(D) I will meet him tomorrow

Select wrongly spelt word.

94. (A) Purgatory
(B) Allagory
(C) Territory

(D) Oratory

i
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Fill in the blanks with appropriate phrasal
verb.

95. The party and we went

home.

(A) Broke up
(B) Broke down
(C) Broke off
(D) Broke in

96. Students
(A) look after

(C) look up

to film stars.
(B) look in
(D) look for

Fill in the blanks with appropriate preposition.

97. He was proud his work.
(A) of (B) for
(C) about (D) off

98. Mr. Gessler needed good leather to
work ;
(A) for (B) with
(C) in (D) on

Select the synonym of the following words from
the options.

99. INANE

(A) silly

(B) useful

(C) meaningful

(D) none of the above

100. ACCEDE
(A) diminish
(B) agree
(C) reject

(D) control
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101.

102.

108.

104.

105.
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FAS hid Ut forerd 7
(A) 08
(B) 16
(C) 48
(D) 10

e witan gieran fafemisem T
eI | e e It |
(A) @ (B) Teoh{cHh
(C) FeTavg (D) TTsraTeTaE

[EQUiET STTRY Hid AR g 7
(A) 24
(B) 44
(C) 64
(D) 08

Tq-rfiEaTs: HiEH Jued g 7
(A) emHUSHH
(B) TamHUSH
(C) cIrHUSH
(D) TZHHUSH

yRUfE_ uvEy
TATRRAYAFFETEE ! waf=d |
(A) THATH

(B) sy

(C) i

(D) T

0 O ORI

SECTION - B/ 9T —-4
Post Specific Subject-Related Questions

e Taftiee fAwg - gasf g

106.

107.

108.

109.

110. °

TR AR WU SR |
(A) Bifagmye:

(B) TREUNE:

(C) 5=

(D) wafe:

IYEMT: T8 SHRIRAE: | s
AT el =l

(A) T ((GIRCIGED!

(C) sl (D) fer:

q@q-3A=H | 30 -
(A) Ura:

(B) A& :¥FITH,

(C) ~itg:

(D) =Tg:

e wfa woerf form 7
(A) Hfor

(B) 9

(C) =it

(D) 3E

(A) A
(B) SIRIw:
(C) Fa=:
(D) =T
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j Ji 12

113.

114.

115.
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Tenrergaea TnfadREify: | s
e TRfirE a: |

(A) ®1 (B) ot

(C) aft (D) @™

E| AT Ee: |
FEITERE: ERYENT: |
(A) fasmesrent

(B) aISTeh!

(C) mqEy

(D) TTeHTSn

T gFead. |

(A) T

(B) HfvRT

(C) =R

(D) ®w

TS U1 HATHTIIA ST USed 5
Mad | 38 91 3§ |
(A) FaTgE

(B) TeaHieH

(C) =y

(D) Fergaretare

o g g9 gt
(A) TITE:

(B) IS

(C) wI1aE:

(D) g@rdz:

116.

7.

118.

119.

120.
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(A) &m
(C) Fmam

ey |
(B) I
(D) Sfta=

T fer: fen: =l
HTfeaehiya: |

(A) fasm:

(B) HEMI:

(C) ufEm:

(D) 3TEnT:

TN ERA AT g4 e
(A) 3T

(B) St

(C) U=sas

(D) T=TH

s Hidfaesan...” HEm o ?
(A) TEdd:

(B) Tmeredda:

(C) H&=Zuda:

(D) F=TTFUEa:

%E[?ﬂﬁi: wiasal af=mE:
Tafd|

(A) ST

(B) T

(C) ==

(D) 3fz:
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121:

122.

123.

124.

125.
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‘ch:‘[S?f: ?

(A) AT9UHE:
(B) STHI:
(C) HIsyeHM™:
(D) ==

AT IIe: | q
BRI qes: |

(A) =af:

(B) WI:

(C) 3

(D) HAT:

AHAGEREYRO R0 |
(A) aftaTony
(B) T&a

(C) FeFH,
(D) TI;

TSI ST TehIfaEr; G ||

(A) FAa=il
(B) et
(C) f&y:
(D) WA

eI g #: 5g 7
(A) SeET:
(B) I&US:

(C) Fead:
(D) #HEa:

127.

128.

129.

130.

126.

Wﬂ%@ﬂﬁl@'ﬂﬂm ___vafa |
(A) =

(B) 9=

(C) 3=

(D) =

TeAETTH i faem ?
(A) Tgfaem

(B) wemIfaey

(C) wefawy

(D) erferem

AAGGIFTEc T2 &l : 7

(A) ToamgusT:
(B) 3rawE:
(C) T
(D) Tham:

HEETE T &ftero afFe: |
(A) G

(B) GHIM:

(C) HIFETaH:

(D) FHIAGHHATH:

HAIYS Feall o |
(A) rEH@

(B) &A™

(C) =&

(D) =T
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131.  WIETRTIRIHTEHOY 1 136. HifgcagdUR Fal &: ?
(A) Ta&Yq (A) T
(B) 3TFHFH, (B) TSIG:
(C) 3HHY (C) &=
(D) wrsa: (D) "=

132. TSRS TE 137. wifecaedv fq uf=aer: af< ?
(A) TOI: (A) THIE
(B) Fq¥a: (B) 7=
(C) Hfa: (C) T
(D) TwSI: (D) 3w

133.  Reamr: i forer: 7 138. WIfecIQUUIEHIE Td FHITET @& fony ?
(NREIELE (A) STRI WTCHS HTeay
(B) =gfdsy: (B) et wfed! Hrey
(C) uafaw: (C) wofrmfiuTes: wea: Feay
(D) Tafaw: (D) wreareft kT,

134, Fqfadar _ sEfd | 139. I=q1 TN FeRIISHAATRIHR|
(A) T (A) 3 (B) EW
(AT © (D) 7
(C) FfemH
(D) el 140. Joq1 geqon gEeeAfyg@o

FcdShedaaqey: |

135. W{!{mﬁa{?_ -

(A) STepTgeRfed e .

(B) <hfere: e =
(C) i © 15
(D) Tl ARy (D) Hfq

271s
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141.

142.

143.

144.

145.
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TS seaNIfdan w0
(A)

(B) R

(C) =

(D) =g

e

(A) To=H
(C) Ham

(B) Odq
(D) =M

146.

147.

148.

149.

150.

A0 0 0 0O

SIS Yadeh: & 7
(A) YIEEH:
(B) HeaTET:

(C) HRmgSTaR:
(D) deawTEH:

SO g e
(A) 556
(B) 566
(C) 576
(D) 506

Afomare: g fage
NEEEGE HE

(B) SddETaET

(C) Taftrergae

(D) FATSAaER

afeH g TR atsiaaT 8
FHomfy Shuaryt sfa sfqafedt @ g
(A) Igargra:

(B) safgr:

() TaRirergafigra:

(D) EaTsafiaT:

safagr woi i faem ?
(A) e

(B) wfday

(C) TeHTENTIaEy

(D) Erferery
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151.

152.

183.

154.

155.
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LA MR IEEAE I C R AR FIECAD i
(A) 39|
(B) voIN:

(C) digsry
(D) e

FreeenfrEiE s
(A) et
(B) =l
(C) el
(D) |

RCIH|

IFRE B S| g |
(A) JeTP:

(B) 3ifeuemy:;

(C) fauemsy:

(D) 3tfaemy:

FrIIHRIgTARRAvET T

Jecid: |

(A) 99H
(B) §=H
(C) Ham
(D) <3

“RATIE” T-oNST ShiTH et g3Id ?
(A) SFgaragr:

(B) safirgr:

(C) Tafirergafirgr

(D) EGIEGI AT

156.

157.

158.

159

160
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RIS
(A) 3
(B) 3dar:
(C) &ia:
(D) Havig

@Rt 3EaH 9 v
afd|

(A) TFE
(B) & HE

(C) t=wr=

(D) YR

Fdgearg: _ wfemfeees)
(A) I (B) 399g
(C) 3IIT: (D) 39at:

ERRIERETIEEDIGE |
(A) foz
(B) =
(C) dig
(D) <

Jar: yiaufesae 3fd gErer Seemm
|

(A) F@1

(B) 9@q

(C) =ftom

(D) @
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161.

162.

163.

164.

165.
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Aieiaaarsty guread, sraesi
HEHE—h: TSIl a9 |
(A) 3&F:

(B) Ta=ammfur:

(C) dmTe:

(D) =srdte:

- =TT | 7T - ey - I
(A) T

(B) mMa:

(C) mm:

(D) "=

I T velteplsy fomra ?
(A) drEaETT

(B) HEgH,

(C) hiaw=it

(D) SvmERay

“W, 5 HI9Y_ | TYAT JEHAT HAT T’
a?ﬂ‘[:ﬁ_q'ﬁ:?

(A) TR
(B) Humertaal:

(C) Y[wuehtaar:
(D) FHUITRIFAT:

s ______ﬁ'SI:I
(A) T (B) &Mt
(C) &h (D) BFe:

R0 OO OO0

166.

167.

168.

169.

170.

At s oy ?
(A) Efcrery:

(B) 313 M

(C) o &

(D) ToIIH I

FuimaeRE: afaf:
@ |

(A) @I

(B) Hfer

(C) avi:

(D) mifEassn

3: 5009 o ey wafa
(A) A YRTATERATY
(B) ¥

(C) il =
(D) a:f

‘Al GAaATEE=" G 1 a1 efad ?
(A) THTEETT

(B) wifaufesrasn

(C) dfgadmn

(D) Faa

FAeRgaAyg |
(A) o

(B) 941

(C) g

(D) =1



171.

17<:

173.

174.

2 o
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Tagyeran: =i faemg ?
(A) 18
(B) 21
(C) 07
(D) 09

o Fufidfa g
(A) HEEEH,
(B) TEHH
(C) =

(D) =

AferRt 1 fawfF: @ 7
(A) Tz '

(B) wsdt

(C) wwHt

(D) =rgeff

TLTHH 3T GHEIEs g3 fohy ?
(A) Teife

(B) 3srexfiuray

(C) FEHTE

(D) 9aHT: AT

IIfE: 303 eI & 7
(A) 3%
(B) %=
©) =9
(D) =¥

176.

127

178.

179.

180.
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nmm____@wuﬁ: I
(A) SATEIOT:

(B) FFaeEO:

(C) Ffemey

(D) seIEUI

fe w faames gy

(A) fea srarFueml &

(B) 3=t f2

(C) et 2fera

(D) vwBIsfe

TR TR T Ay g - TR
wafd|

(A) et

(B) fafamn

(C) =gt
(D) 99gH1

seid fqufaufal

(A) ufag
(B) urfag
(C) wafag
(D) wafarg

) e g
(A) Y ggHE
(B) fergam

(C) Req=m
(D) e&

3 = |
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181.

182.

183.

184.

185.

“The widest road leading to the solution
of all our problems is education.” This
quote is by

(A) Vivekananda (B) Tagore
(C) Gandhiji (D) Sri Aurabindo

Listening to radio broadcasting or
watching TV programmes on educational
or scientific themes is an example of

(A) Formal education
(B) Informal education
(C) Non-formal education
(D) None of the above

The success of non-formal models lies on

(A) The initial interest level and
motivation of students

The quality of educational materials
capable of upholding a high student
motivation level

Both (A) and (B)

Interest level of teacher

(B)

(C)
(D)

The apex body for curriculum related
matters for school education in India is

(A) The National Institute of Open
Schooling

The Council of Indian Schools

The National Council of Educational
Research and Training

Central Board for Secondary
Education

(B)
(©)

(D)

The core value of early childhood
education lies in

(A) Child development
(B) Child-centredness
(C) Child learning

(D) Child environment

186.

187.

188.

189.

190.

The key element required to nurture
balanced development of children

(A) Knowledge
(B) Skills

(C) Attitude

(D) All of the above

The theory which is applied extensively
to the understanding of aggression and
psychological disorders

(A) Cognitive learning

(B) Social learning

(C) Motivation learning

(D) Cognitive social learning

The technique used in shaping
teaching-learning efforts is called

(A) Programmed learning
(B) Observational learning
(C) Social learning

(D) Comprehensive learning

A practical exercise and useful training
technique to stimulate creativity in a

group
(A) Group discussion
(B) Brainstorming

(C) Virtual discussion
(D) Vestibule training

The technique which involves studies
that may be based on real cases, or be
designed as hypothetical situations, but
based on real issues

(A) Interview

(B) Case studies

(C) Questionnaire
(D) None of the above
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181.

182.

183.

184.

185.

27~

i et & ¥ a% S 9Tl JEean
At e 21 e ERUETIRIRH
(A) TRerEe (B) 3R

(C) efisht (D) i efe=t

Seafores a1 Jqfren forat arer et wemor
AT A1 et i Q@ 1
IS B

(A) =i fore
(B) =i fRran
(C) R-3fiv=ni fram
(D) 3% 8 @ =S T

- aedi R awd _ Wal

(A) ARfeR wfa T i faenfefa =
1121 £

(B) U =g fereneff wicanes W dAme e
H g&m eforen garel i orET

(C) (A) 3 (B) IHi

(D) Teres o1 &Fa &R

T T Thdt 18T 2 UT=shy et ara
&g 3 frerm 2

(A) TS gaa foemes geam

(B) Wt formery uftyg

(C) T fanem argge wa ufeor uftyg
(D) heir mreafis fareq s

S IBCE B eI CaR: (b S
4 ffea 2l

(A) =T T

(B) ST g0l

(C) e 31T

(D) T TEeT

186

187.

188.

189.

190.

MKG-XXVIINTECHPGTS/1T/04

TTohi % Tgferd forehra o TIweT 2 Sifesd
T T

(A) IH

(B) =¥l

(C) wafd

(D) 3 gt

SATShTHERAT 3 IR Tl it Tmet
T gee 9 4 @] Fam @

(A) GFHICH T

(B) e 1T

(C) T TR

(D) I AT STEH

TRTea07- 31 WTE SRl STTHR A § I
TR dd el

(A) R TR

(B) THAeviig e

(C) WIS e

(D) ST ERH

T TR W TSIl Serad i o 3wt
TiR1&07 deieh 3T U AR 3ngm|
(A) HE ==

(B) wferss quq

(C) =t ==t

(D) I wfvieo

3 daie S U8 s e & S
IR A W SETRG A1 Feues
feafat & wq o fesmga fohg o € wg
FrEfaeh ge) W aneiia

(A) HETHR

(B) o\ e

(C)uwar»ﬁ

(D) I H A g T
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191.

182.

193.

194.

195.

The method which involves multiple
participants discussing an issue
(A) Surveys (B) Focus groups

(C) Interview (D) Questionnaire

One of the following is an element of
visual art

(A) Shape

(B) Colour

(C) Line

(D) All of the above

Students assess their own individual and
group performance is an example of

(A) Co-operative learning
(B) Performance learning
(C) Collaborative learning
(D) All of the above

The developmental objectives in
the curriculum framework for early
childhood development include

(A)
(B)

Physical Development

Cognitive and Language
Development

(C)
(D)

Affective and Social Development
All of the above

Identify the psychological factor which
can affect listening.

(A) Environment
(B) Lack of interest
(C) Facilities

(D) Relationship

196.

197.

198.

199.

200.

0000000

It largely being a team effort, allows
children to experience multiple
perspectives within which they see their
own action

(A) Music
(B) Art

(C) Dance
(D) Theatre

Psychologists use the following method
to collect data

(A) Observation
(B) Experimentation
(C) Case study
(D) All of the above

The technique which imitates reality by
assigning roles to the participants and
giving them a situation to act out

(A) Drama

(B) Dance

(C) Role play

(D) None of the above

plays an important role in
the development of personality of an
individual.

(A) Environment
(B) Self awareness
(C) Self concept
(D) Peers

Which of the following is a domain of
learning ?

(A) Cognitive

(B) Psychomotor
(C) Affective

(D) All of the above
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191.

192.

193.

194.

195.
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o7 farfer forem weh e W aiga @ wfewrtt <=t
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This booklet contains 32 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (®) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method

O®00

Wrong Method

O0g00

Wrong Method

(OJORORS]

Correct Method

Oe0O0

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (®) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.
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